8.r.                                                       MAT                                                24.03. 
1. Vypočítaj:
67,11 + 34,5 = .....................	    53,2 – 16,54 = .....................	  
          72,11 – 8,69 = .....................          78,7 + 18,562 = ...................
            3,8211 + 7,4 = .....................	    68,5 – 5,372 = .....................
2. Zapíš si príklady pod seba a vypočítaj ich.
8,94 - 3,52 = 
a) 6,42
b) 4,42
c) 5,42
d) 12,46

14,8 – 3,21 = 
a) 11,59
b) 10,59
c) 10,13
d) 11,13
6,8 - 2,3 = 
a) 4,5
b) 3,5
c) 3,11

d 23,7 – 4,3 = 
a) 20,4
b) 19,4
c) 19,3
d) 18,4 





9.r.                                                      MAT                                    24.03 
                 1 ‰ = 1⁄1000 = 0,001 = 0,1 %      10 ‰ = 10⁄1000 = 1⁄100 = 1 %

Vypočítaj 1 ‰ z :
4200 =                                   240 =                                    55 =
1,78 =                                   0,007 =                                 2300 =
340 =                                     12 =                                    75,9 = 
0,009 =                               45,2 =                                     68,08 =

Vypočítaj:
2 417         6 547     7 770       5 479     8 047       9 217        4 983          2 479         1 268     1 208       3 479     1 287          397        2 578         ______      _____    _____      _____    _____       _____      ______      


4 583       7 204          9 369      9 874      8 080      9 587     6 541            2 411    – 2 479       – 2 479   – 6 258   – 5 411   – 5 693  – 3 687       
_______    ______  _______  ______  ______   ______  ______      
    


